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a) 2 pts

The equilibrium pressure of NH3 would be unaffected
Kp = (Pnu3) (PHzs)

The amount of solid NH4HS present does not affect the

equilibrium.

b) 2 pts

The equilibrium pressure of NH3 would decrease. In order
for the pressure equilibrium constant, Kp, to remain
constant, the equilibrium pressure of NH3z must decrease
when the pressure of H»S Is increases.

C) 2 pts

The mass of NH4HS increases. A decrease in volume
causes the pressure of each gas to increase. To maintain
the value of the pressure equilibrium constant, Kp, the
pressure of each of the gases must decrease. That decrease
Is realized by the formation of more NH4HS (a complete
explanation of LeChatelier’s Principle is also acceptable)

d) 2 pts

The mass of NH4HS decreases because the endothermic
reaction absorbs heat and goes nearer to completion (to the
right) as the temperature increases.
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23)

(a) two points

Calculated Mm (HA) too low

M(NaOH) => V(NaOH) => n(NaOH) => n(HA) => Mm(HA)
(M =n=+V)and (Mm = m+ n)

(b) two points

Calculated Mm(HA) not affected

Any one of the following reasons. Water: does not change n(HA)
OR changes only

M(HA) -- sense of dilution OR is not a reactant

(c) two points

Calculated Mm(HA) too high

equivalence point => n(NaOH) => n(HA) => Mm(HA) (expected
pH higher)

Note: "no effect if NaOH standardized with same indicator" earns
2 points; no credit

earned if pH=7

or neutral

(d) two points

Calculated Mm(HA) too low

V(NaOH) => n(NaOH) => n(HA) => Mm(HA)
Note: point earned for V(NaOH) only if:

(i) no explanation point is earned in (a)

(i) explanation in (a) also includes V(NaOH)



